
Patio Recliner Chair



1

A Right Arm

Left ArmB

1

1

Back Panel 1

Seat Panel 1

C

D

Rail 1E

Bolt M6*18 8F

G Bolt M6*30 4

Washer 4H

Allen Key 1I

CushionJ 1



2

Bolt M6*18F

G Bolt M6*30

EXTRA PARTS

1

1



3

STEP 1: Attach the seat panel ( D) to back panel(C) using bolts (F). 

Please do not fully tighten all bolts until unit is fully assembled.

STEP 2: Attach the right arm (A) to seat panel using washers (H) and bolts (G). 

Please do not fully tighten all bolts until unit is fully assembled.

F

C

D

F

D

G

H
A



                Please fully tighten all bolts at this time.  

4

STEP 3: Attach the left arm (B) to seat panel using washers (H) and bolts (G).

Please do not fully tighten all bolts until unit is fully assembled.

STEP 4: Attach rail (E) to back panel using bolts (F).

A

G

H

B

D

F
F

E

A

D

B



5

STEP 5 : Carefully turn the seat to upright position. 

STEP 6: Place seat cushion (J) on the seat.

J



6

Cleaning and Maintenance

Clean frame with mild soapy water, rinse thoroughly. Dry frame parts completely.
Do not use bleach, acid, or other solvents on the fabric and metal parts.

We recommend the use of furniture covers to protect the recliner chair when not in 
use.

Inspect and tighten all bolts on a regular basis to ensure proper performance
and safety.

In order to prolong the life and beauty of your recliner chair, we
recommend storing it in a dry and protective area during o ffseason periods.


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

